SEMESTER REVIEW

Factoring

$$\chi^{2} - 49 = (x-7)(x+7)$$
 $\chi^{2} + 3x-28$
 $\chi^{2} - 6^{2} = (a-6)(a+6)$
 $\chi^{2} + 6^{2} = (a-6)(a+6)$
 $\chi^{2} + 6^{2} = (a-6)(a+6)$
 $\chi^{2} + 6^{2} = (a-6)(a+6)$

$$a^{3}-b^{3}=(a-b)(a^{2}+ab+b^{2})$$

 $a^{3}+b^{3}=(a+b)(a^{2}-ab+b^{2})$
 $x^{3}-27=(x-3)(x^{2}+3x+9)$

$$\frac{2 \text{ terms}}{2 \text{ terms}} \frac{3 \text{ terms}}{|y| |F| |D|} \frac{4 \text{ terms}}{|x|^2 + 9} = (x-7)(x+7) \qquad \frac{3 \text{ terms}}{|x|^2 + 3x-28} \qquad \frac{4 \text{ terms}}{|x|^2 + 3x-28} \qquad \frac{3 \text{ terms}}{|x|^2 + 3x-28} = (a-b)(a+b) \qquad (x-4)(x+7) \qquad (x+7) \qquad ($$

SEMESTER REVIEW

Factoring

2 terms

$$\chi^2 - 49 = (x-7)(x+7)$$
 $a^2 - b^2 = (a-b)(a+b)$
 $a^3 - b^3 = (a-b)(a^2-ab+b^2)$
 $x^3 - 27 = (x-3)(x^2 + 3x + 9)$

Synthetic Division

 $\chi^2 + 3x + 2x + 3$
 $\chi^3 - 3x^2 + 6$
 $\chi^3 + 3x + 2x + 3$
 $\chi^3 + 3x + 2x + 3$
 $\chi^3 - 3x^2 + 6$
 $\chi^3 - 3x^2 + 6$
 $\chi^3 + 3x + 6$
 $\chi^3 + 3x + 6$
 $\chi^3 - 3x^2 + 6$
 $\chi^3 + 3x + 6$
 $\chi^3 + 3x + 6$
 $\chi^3 - 3x^2 + 6$
 $\chi^3 - 3x^2 + 6$

Solving Roots

1) Isolate one root

Solving Roots

1) Isolate one root

$$(x+4) = (2 + \sqrt{x-4})^2$$
 Foll 1 3) Repeat

 $(x+4) = (2 + \sqrt{x-4})(2 + \sqrt{x-4})$
 $(x+4) = (x+4)(x+4)$
 $(x+4) = (x+4)$

#9 Function Operations
$$f(x) = x^{2} - 4 \qquad g(x) = (2x + 3)$$

$$f(2) = 2^{2} - 4 = 0 \qquad (f \circ g)(x)$$

$$g[f(7)] = 7^{2} - 4 = 45 \qquad = (2x + 3)^{2} - 4$$

$$= (2x + 3)$$



